

TO VALIDATE, GO TO Certificate Number : GI-COO-50027-66b3d82f73da2 **VERIFY.FTGS.US** Date: August 07, 2024

		00.00	August 07, 2024		
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel			Port of Loading LONG BEACH	
Irvine CA USA	Destination C China	Destination Country China		Port ang	
Consignee	Export Date 2024-07-31		Exporting Ca N/A	rrier	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing	Import Permi N/A	Import Permit Number N/A		g / AWB 188	
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	Agent	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1548 Total: 661.3				
Description			Weight	Country of Origin	
(May include notes on Quantity, Item Number, Marks and Numbe Alfalfa Hay	rs, Kind of Package	:S.)	21.301mt	United States	
Marks: EISU9328644 52bales					
Alfalfa Hay			21.219mt	United States	
Marks: EISU9454869 52bales				THE PRIME	
Alfalfa Hay Marks: EMCU8413883 52bales			21.246mt	United States	
Alfalfa Hay Marks: TGBU6944702 52bales			22.181mt	United States	
Alfalfa Hay Marks: EGHU9796273 52bales			22.163mt	United States	
Alfalfa Hay Marks: EMCU8776235 51bales			22.389mt	United States	
Alfalfa Hay Marks: FCIU9979543 52bales			22.752mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods origi applicable in the country(ies) to the -The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chain -The Applicant will maintain, and pi truth, accuracy and completeness of -In consideration for the GIC's issue 	inate in the country(ies) speci ose goods. and in any documents provide e GIC and any other person(s ate is provided to with the knn nge in such information, or in resent upon request, such doc of this certificate and accomp ance of this Certificate, the Ar onnection with the issuance or made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-50027-66b3d82f73da2 VERIFY.FTGS.US Date : August 07, 2024

	VERIF 1.F 103.03 Date: August 07, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	Transport Type Vessel		Port of Loading LONG BEACH		
43 Corporate Park Irvine CA USA	Destination Country China		X / / L/ V / XXXXX / X. / /	Destination Port TianjinXingang		
Consignee	Export Date 2024-07-31		Exporting Carrier N/A			
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing	Import Permi N/A	Import Permit Number N/A		Bill of Lading / AWB 401410318188		
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	gent		
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1548 Total: 661.3					
Description (May include notes on Quantity, Item Number, Marks and Number	rs. Kind of Package	25.)	Weight	Country of Origin		
Alfalfa Hay			21.691mt	United States		
Marks: EGSU9157532 50bales						
Alfalfa Hay Marks: TXGU5784618 52bales			21.827mt	United States		
Alfalfa Hay			22.353mt	United States		
Marks: EGHU9625305 52bales						
Alfalfa Hay Marks: EITU1208918 52bales			22.217mt	United States		
Alfalfa Hay Marks: TGBU4000431 52bales			21.410mt	United States		
Alfalfa Hay Marks: GCXU6057650 52bales			21.782mt	United States		
Alfalfa Hay Marks: TRHU6241730 50bales			21.927mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods origin applicable in the country(ies) to the -The information in this certificate a accurate, true and complete. The Applicant undertakes to advisi Certificate (or to whom the Certification of any inaccuracy, omission or chara -The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issues 	nate in the country(ies) specifies goods. and in any documents provide goods. at a goods of the special specia	umentation as is necessary to verify the anying documents. plicant agrees to release, discharge and hold f this certificate and to indemnify GIC in on herewith.		

Gl-COO-50027-66b3d82f73da2 / August 07, 2024



TO VALIDATE, GO TO Certificate Number : GI-COO-50027-66b3d82f73da2 VERIFY.FTGS.US Date : August 07, 2024

	VLIMI I.I I	F1.F165.05 August 07, 2024				
Seller (Exporter) Healthy Green Life Corporation	Transport Typ Vessel	De		Port of Loading LONG BEACH		
43 Corporate Park Irvine CA USA	Destination Country China			Destination Port TianjinXingang Exporting Carrier N/A		
Consignee	Export Date 2024-07-31					
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing	Import Permit Number N/A		Bill of Lading / AWB 401410318188			
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	gent		
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1548 I Total: 661.33					
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs. Kind of Packago		Weight	Country of Origin		
Alfalfa Hay	is, kind of Fackage	5.)	21.981mt	United States		
Marks: EITU9264939 52bales			00 C 42mt	United States		
Alfalfa Hay Marks: MAGU5407930 50bales			22.643mt	United States		
Alfalfa Hay Marks: EMCU8371812 52bales			22.770mt	United States		
Alfalfa Hay Marks: TRHU8968097 52bales			21.101mt	United States		
Alfalfa Hay Marks: FCIU9543755 52bales			22.580mt	United States		
Alfalfa Hay Marks: TIIU4497142 52bales			21.845mt	United States		
Alfalfa Hay Marks: EMCU8887985 52bales			22.643mt	United States		
Name of Authorized Trade Association		applicable in the country(ies) to those -The information in this certificate a accurate, true and complete. -The Applicant undertakes to advise Certificate (or to whom the Certifica of any inaccuracy, omission or chan -The Applicant will maintain, and pre- truth, accuracy and completeness or -In consideration for the GIC's issua	ate in the country(ies) specifi se goods. Ind in any documents provider GIC and any other person(s) te is provided to with the kno ge in such information, or in t seart upon request, such doc f this certificate and accompa nee of this Certificate, the App nunection with the issuance of made against GIC in connecti	ed above and comply with the rules of origin d to the Greater Irvine Chamber ("GIC") is to whom the applicant provides this wiedge of the Applicant) promptly in writing he origin of goods. umentation as is necessary to verify the anying documents. Jicant agrees to release, discharge and hold f this certificate and to indemnify GIC in on herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-50027-66b3d82f73da2 **VERIFY.FTGS.US** Date: August 07, 2024

	VERIFI.F103.03 Date: August 07, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	Transport Type Vessel		Port of Loading LONG BEACH		
43 Corporate Park Irvine CA USA	Destination C China	Destination Country China		Destination Port TianjinXingang		
Consignee	Export Date 2024-07-31	Export Date 2024-07-31 Import Permit Number N/A		rrier		
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing				/ AWB 88		
Beijing China	Owner or Age N/A	ent	Forwarding A N/A	gent		
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1548 Total: 661.3					
Description (May include notes on Quantity, Item Number, Marks and Number	rs. Kind of Package	es.)	Weight	Country of Origin		
Alfalfa Hay			22.253mt	United States		
Marks: TGBU4606352 52bales Alfalfa Hay Marks: EGSU9310030 52bales			21.646mt	United States		
Alfalfa Hay Marks: EGHU9833551 52bales			21.763mt	United States		
Alfalfa Hay Marks: TGBU6595093 52bales			21.972mt	United States		
Alfalfa Hay Marks: EMCU9971494 52bales			22.308mt	United States		
Alfalfa Hay Marks: GAOU6236118 52bales			22.417mt	United States		
Alfalfa Hay Marks: HMCU9119290 52bales			22.380mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods origi applicable in the country(ies) to the -The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chai -The Applicant will maintain, and pi truth, accuracy and completeness of -In consideration for the GIC's issue 	nate in the country(ies) specif see goods. and in any documents provide e GIC and any other person(s) ate is provided to with the kno nge in such information, or in t esent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap onnection with the issuance o made against GIC in connecti	umentation as is necessary to verify the anying documents. plicant agrees to release, discharge and hold f this certificate and to indemnify GIC in on herewith.		

Page 4/5



TO VALIDATE, GO TO Certificate Number : GI-COO-50027-66b3d82f73da2 VERIFY.FTGS.US Date : August 07, 2024

	14 Jult					
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Ty Vessel	pe		Port of Loading LONG BEACH		
Irvine CA USA	Destination Country China			Destination Port TianjinXingang		
Consignee	Export Date 2024-07-31		Exporting Car N/A	Exporting Carrier N/A		
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing	Import Permi N/A	t Number	Bill of Lading 4014103181	Bill of Lading / AWB 401410318188		
Beijing China	Owner or Agent Forward N/A N/A			gent		
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1548 Total: 661.3					
Description (May include notes on Quantity, Item Number, Marks and Numbers	s, Kind of Package	s.)	Weight	Country of Origin		
Alfalfa Hay Marks: GAOU6673904 52bales			22.943mt	United States		
Alfalfa Hay			21.627mt	United States		
Marks: EMCU8889524 47bales						
end of products						
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate is accurate, true and complete. -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chain -The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issues	nate in the country(ies) specific use goods. and in any documents provided e GIC and any other person(s) the ate is provided to with the know orge in such information, or in the esent upon request, such docu of this certificate and accompa nuce of this Certificate, the App ponnection with the issuance of made against GIC in connection	ed above and comply with the rules of origin I to the Greater Irvine Chamber ("GIC") is to whom the applicant provides this vieldge of the Applicant) promptly in writing ne origin of goods. mentation as is necessary to verify the nying documents. licant agrees to release, discharge and hold this certificate and to indemnify GIC in on herewith.		

Invoice Metric

Invoice No.

YY-202406009

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERC	AL INVOI	CE			Date:	7/8/24
Shipper/Exporter Healthy Green Life 1152 S Roughcut E Casa Grande, AZ 8	Corp)r			Consignee: Bei Jing You Yuan Mu 200 meters west of V Wuxiongsi Village, Dasungezhuang Tow Shunyi District, Beijin	n,	
Vessel:	Ever Max			Contract No.:	YY-HGLC2024-3	
Voyage No.:	005W			Booking No.:	401410318188	
Shipping Line:	Evergreen			Country of Origin:		
Port of Loading:	LONG BEACH	I. CA			TianjinXingang, China	
ETD:	7/14/24	,,		-	8/7/24	
Price Terms:	CIF					
	1				· · · · - · · · - · · · · · · · · · · ·	
Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
EGHU9625305	B143010	Alfalfa Supremi	52	22.353	\$395.00	\$8,829.44
EGHU9796273	B143219	Alfalfa Supremi	52	22.163	\$395.00	\$8,754.39
EGHU9833551	B143140	Alfalfa Supremi	52	21.763	· · ·	\$8,596.39
EGSU9157532	B143213	Alfalfa Supremi	50	21.691	\$395.00	\$8,567.94
EGSU9310030	B143243	Alfalfa Supremi	52	21.646	\$395.00	\$8,550.17
EISU9328644	B146385	Alfalfa Supremi	52	21.301	\$395.00	\$8,413.89
EISU9454869	B146384	Alfalfa Supremi	52	21.219	\$395.00	\$8,381.51
EITU1208918	B143008	Alfalfa Supremi	52	22.217	\$395.00	\$8,775.72
EITU9264939	B143102	Alfalfa Supremi	52	21.981	\$395.00	\$8,682.50
EMCU8371812	B143105	Alfalfa Supremi	52	22.770		\$8,994.15
EMCU8413883	B146382	Alfalfa Supremi	52	21.246	\$395.00	\$8,392.17
EMCU8776235	B143217	Alfalfa Supremi	51	22.389	\$395.00	\$8,843.65
EMCU8887985	B143107	Alfalfa Supremi	52	22.643	\$395.00	\$8,943.99
EMCU8889524	B143242	Alfalfa Supremi	47	21.627	\$395.00	\$8,542.66
EMCU9971494	B143132	Alfalfa Supremi	52	22.308	\$395.00	\$8,811.66
FCIU9543755	B143108	Alfalfa Supremi	52	22.580	\$395.00	\$8,919.10
FCIU9979543	B143212	Alfalfa Supremi	52	22.752	\$395.00	\$8,987.04
GAOU6236118	B143031	Alfalfa Supremi	52	22.417	\$395.00	\$8,854.72
GAOU6673904	B143032	Alfalfa Supremi	52	22.943	\$395.00	\$9,062.49
GCXU6057650	B143001	Alfalfa Supremi	52	21.782	\$395.00	\$8,603.89
HMCU9119290	B143033	Alfalfa Supremi	52	22.380	\$395.00	\$8,840.10
MAGU5407930	B143103	Alfalfa Supremi	50	22.643	\$395.00	\$8,943.99
TGBU4000431	B143003	Alfalfa Supremi	52	21.410		\$8,456.95
TGBU4606352	B143247	Alfalfa Supremi	52	22.253	\$395.00	\$8,789.93
TGBU6595093	B 143136	Alfa fa Supremi	52	21.972	\$395.00	\$8,678.94
TGBU6944702	B143220	Alfalfa Supremi	52	22.181	\$395.00	\$8,761.50

https://www.haycloud.com/Popups/popReport.aspx?reportid=4217&ran=23533

8/1/24, 4:03 PM				Invoice Metric		
TIIU4497142	B143110	Alfalfa Supremi	52	21.845	\$395.00	\$8,628.77
TRHU6241730	UL-9161166	Alfalfa Supremi	50	21.927	\$395.00	\$8,661.16
TRHU8968097	B143109	Alfalfa Supremi	52	21.101	\$395.00	\$8,334.90
TXGU5784618	UL-9161165	Alfalfa Supremi	52	21.827	\$395.00	\$8,621.67
Total Value:			1,548	661.330		\$261,225.38

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



2024

